Тригонометрические  уравнения
	Уравнения
	корни
	

	cos t = a,   │а│<  1
	t  =   ± arсcos a + 2πn,  n ϵ  Z ;
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	cos t = 1
	t  =   2πn,  n ϵ  Z ;
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	cos t = 0
	t  =   [image: image2.png]


+ πn,  n ϵ Z
	

	cos t = -1


	t  = π + 2πn,  n ϵ  Z
	

	sin t = a,   │а│<  1
	t  =   ( -1)k arсsin a + πk,  k ϵ  Z ;
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	sin t = 1
	t  =   [image: image4.png]


+ 2πn,  n ϵ Z
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	sin t = 0
	t  = πn,  n ϵ Z

	

	sin t = -1
	t  = -  [image: image6.png]


+ 2πn,  n ϵ Z

	

	tg t = a
	х = аrctg a + πn,  nϵ Z.
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	ctg t = a
	х = аrcctg a + πn,  nϵ Z.


	


